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REEith (2) 700 18,600 | [ ithdes Eith 2,000 | | BEKeith 2,000 || tH#wth 7,200 | | 8915t (6) 1,200 | [ L RFith 1,400 | | Bkt 2,700
LEFith 900 5,600 | [ ithd&Tith 3,300 | | Hils&its 5,500 || DEmEmth 20,000 || &Kt (1) 3,000 || =3ith 1,000 | | SRS 6,000
Rt (1) 3,200 2,000 | | =& Eith 200 | [db/EERRith 3,000 | | iith 4,300 | | /G 3,900 | | EZith 1,600 | | B555ith(2) 200
EXh) 4,100 10,500 | | EQETFith 3,800 | | mith 18,000 | [ FATESFEFH 13,700 | | Avisbests 3,100 | | &G 1,200 | [ E#ith 900
| LB 13,000 27,000 | | EBy& Eith 1,500 | | E1RLLFA 3,000 | | #nsith (HOZEHET) 5,300 || MY Eith 17,380 | | BRESFHth 8,600 || FaEsith 4,300
| LIEsEst 81,000 60,000 | | Ry & Tt 1,500 | | #hssith (AI2HT) 3,500 | | BRIt 300 || Eith 8,200 || A hith 400 | | fli#sits 1,100
NEith 800 14,700 | | $Fith 39,400 | | FEfpizt 42,000 || KISt (1) 300 || <&fith 4,200 || B bt 1,100 | | KETith 180
Wit 900 900 | | &4 <'r’e“ﬂ! 2,000 i) 8,600 | | #9i5ith (2) 200 | | ithEHt 500 | | SPfmits 5,900 || /\5ith 25,000
i=n) 1,900 8,000 k 3,300 8,500 | | B9t (3) 100 || BEZHith (1) 3,000 | | #hi/Paith 300

FhFRth 6,000 3,600 | | EaFiEith 300 5,000 | | 89i%ith (4) 100 | | BaZHth (2) 3,200 | | FatFR 20,000

Kdith 8,900 13,000 | | Er&ith 4,500 20,000 | | #4915t (5) 600 || FEFith 9,300 || SAKNHh 2,500
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